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el Of POl RH M2 R (B9 &2

SN HB G (BH) - MRAY - BES Aro CEE Hlm= 2
Oil &k o8
ORFIIEEZ UXNEAX 215
3,000 2501 63| * 12& 5,400
OUEHIt HZE 100, 000& *30H 3,000
Oox&EE:= 40,000,000& 40,000
02 22234l 1,220 3,070 A 1,850
OFR&EsE:E BE&H |X&el 60,000&«12& 720
OFRFEEH(22) MIE SX=e|
50,0003 =104 500
405 ItHatE S| 3,800 16,903 213,103
01 XL SSFHSHI 3,800 16,903 A 13,103
OAMREZE dl X 2L 3,800
= el = (AF-S 70-200mm) 3,800,000 =14 3,800
ZotE Al =4 549,067 753,939 A204,872
AL &= 431,831 375,923 55,908
FoAE AE 138,600 0 138,600
401 AlEHIZ 2 138,600 0 138,600
01 Al&H| 138,600 0 138,600
OF3AE 20 138,600, 000& 138,600
dEs A2M2 2Y 9,534 7,950 1,584
201 LBt 3| 9,534 7,950 1,584
01 AFR 22| 5,200 5,200 0
OX2EM2 225 * 100,000& = 12& 1,200
O M-Y 3,000,000& 3,000
OXx2cM2 222 HH 1,000,000& 1,000
02 3234l 4,334 2,750 1,584
OX2TNMZ B2R3 200,000 x12& 2,400
OFstx A 350,000& 350
ORoZHIEY =2 132,000& =128 1,584
CGHHE B9 42 2Y 283,697 144,556 139, 141
201 LBt H| 207,618 96,946 110,672
01 AFR22lH| 41,954 14,300 27,654
OUlE B2 3 224 1= 2L 1,110
2R=E(sS) 100,000 *3G * 13| 300
22 =(ot=) 70,000 x3H 13| 210
LU PEES 30,0003 »3H »32| 270
ctat 50,000& 3 *13l 150
gets 60,0003 x3H x13] 180
OHEE+ OlsdlstEa g 25,000
SHY S A 25,000,000& 25,000
Oz 2ZEZ ¢ 500,000& x12& 6,000
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SA: 23TBY
B 2N x4
&2l AL =S ce AR
SA - Ao (F) - NEAY - Ba S Ao S H RS2
0l &4 08
OHxEs dH2RE 50,0003 x19 »2H 1,900
OHZEEs 22X 24 7,000 «4H+222+«9& 5,544
OYZTE+ AU 200,000& = 12& 2,400
02 5234l 165,664 82,646 83,018
O&Ilz 45,000
29 |2t 4,350,000 «9& 39,150
0l2g|2t 1,950, 000& *3& 5,850
OHxE2s & - ot=k2 45,000
=] 6,200,000 «3& 18,600
Hl==2I 4,400,0002 «6 & 26,400
O0ls=tE4a 2l 45,840
el 210,000 *301 A~ *82| x9& 45,360
2223 40,0003 +12& 480
OmIlgHIOEBE HEL4E
783,640 x12& 9,404
OHEEZF2UEANRA H23H ALS
35,0003 123 420
O EE It 20,000, 000& 20,000
203 LEZH| 2,000 0 2,000
03 AIBMFXAHE =&Y 2,000 0 2,000
OHx2s 22| HRFA 2,000,000 2,000
307 gIz2told 15,300 40,800 A 25,500
05 CIZtRAEZ 15,300 40,800 225,500
OHxEs A EY 2,550,000& *63| 15,300
401 AlEHIZL 2048 35,859 0 35,859
01 Al&H| 35,859 0 35,859
OYdxas ZBLEX 35,859,000& 35,859
405 XH&HFE SHI 22,920 0 22,920
01 LS SFSHI 22,920 0 22,920
OSEAN2E B2 17,100
AT 2,300,000 6CH 13,800
o= 1,100,000& *3CH 3,300
OdII2ZdlHI ¢ 1,940,000 *3CH 5,820
2stils dE 99,200 368,460 A 269,260
Z oA JHE 70,200 300,050 2 229,850
201 LBt I Y| 8,800 8,650 150
01 Ar222/t| 8,800 8,650 150
OSHAEIE #A SFEA At
2,500,000 *2CH 5,000
OZsdEA 22X =4 7,000 *400H 2,800
O=2stdAt XI& &&F 2+ald| 2,000& *500H 1,000
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SN-EHH . SH(BH) - HPAY - BE2 O] Ak 4 glggi; B2
203 HRFY| 700 700 0
03 AlZZ=TQ R =Ty 700 700 0
O30 YLEN 70,0002 700
301 YBBAD 700 700 0
10 BAEI 243 700 700 0
OS&#A RAZAX 24 7,000 %1002 700
307 QI2H0IH 60,000 290,000 230,000
04 QIIHALBE 60,000 290,000 £230,000
ORMIH BHHEH X 5,000,00024 5,000
OBAE HIGEH X 5,000,0002 5,000
OHM HAEIZ(AHENRI2Y) N
50,000, 0002 50,000
2stol 2 1Y HEXAIS A 6,000 6,000 0
201 LBt Y| 1,000 1,000 0
03 A2 | 1,000 1,000 0
O239 2 Iy X2 HAE 29
1,000,00024 1,000
301 LPB A 5,000 5,000 0
10 BAHAHIBAS 5,000 5,000 0
O=28o g JlE ABXAE BBX L2
5,000,000 5,000
BEALSH I E A 23,000 62,410 39,410
201 LByl 23,000 22,410 590
01 At 2ol 23,000 22,410 590
OBZANHE 1,0002 %3, 000Kl € 3,000
OBZHETY 20,000, 0002 20,000
2starel @ 18,036 9,556 8,480
SEMY NG 18,086 9,556 8,480
201 Yot Y| 15,436 6,956 8,480
01 At 2t 15,436 6,956 8,480
OYAHMIAAA HHEX 200,008 %52 1,000
OU+HYI| ST ARt
70,0002 *1 %2003 14,000
OREAL DI HE  2202+1,3008 286
ORSYS=S M 50,0002 18t A 150
307 Q1201 2,600 2,600 0
05 DIZHSIES 2,600 2,600 0
OgaHAI BIIFH 13,0002 *200CH 2,600
sxc 22 46,305 89,726 A43,421
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HE: SHC 2
Sl SRT HMSAL 22 (9l & 2
_ _ _ Muo
SN-EHH . SH(BH) - HPAY - BE2 0ff &+ o4 il b o B2
SHE HSAE 22 46,305 89,726 £43,421
ST YIZAUSY 29,745 23,386 6,359
201 L2y 9,990 7,470 2,520
01 At 2ty 7,590 6,270 1,320
OS5 BWSAL 2YSE 7Y
120,000 * 122 1,440
OS5 BHZAMM 2249 50,0002 1152 5,750
OHMSALAE MBAN RIZ 400
02 IT2YH| 2,400 1,200 1,200
OS5 BHZAM M2 200,008 128 2,400
301 LPBAS 19,755 15,916 3,839
09 Bol22RAFLS 19,755 15,916 3,839
OSHCTHISAL 29 2X 19,755
=23 83,0002 x62 x 122 6,336
=4 5,00021 +62§ x222 # 122 7,920
DEY| 2,60021 6% 222 « 128 4,119
2= 56,0002 x6% 936
o e 74,0002 6% 444
SETHSANE SN U 24 16,560 66,340 49,780
201 L2y 16,560 18,340 A1,780
01 Attt 12,600 16,300 A3,700
OSAAHOER L SHTHE HAZE T}
a2 1,000,0002! 1,000
O2%E =3% smaae 3,600
zelgE 7Y 100,000 * 122 1,200
SEA 2hHel $42
60,0002 101 x43] 2,400
OSHETAHE ALZ2 RXS4 5,000,002 5,000
OSHERRH0 MENH 22Ty
3,000, 00024 #1742 3,000
02 IZ2Y| 3,960 2,040 1,920
OHMSAE & - 5t4+E2 300,000 122 3,600
OMSANE(HOESE HEAUKL) HIIE
30,0002 122 360
Mseso Hs U 2 162,535 387,732 £225,197
Al 61,400
2| 101,135
23R4 B 63,935 293,632 £229,697
Al 22,000
2| 41,935
SILS =T X 25,900 0 25,900
Al 22,000
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2A: S22
HM: SR Hs & B&
CHe: 23R B (&9 HM
- _ _ poE N
2N -3 - c2(3H) - NEME - HES 0] AFCH 'Oﬁ/'\ja'g Hns
HMESHE #2| 2,000,000& 2,000
O=&s 01X 2E8& 135,000& *13] 135
OZENESH HEBE S 800,000 * 13| 800
O=&& 012X KX 80,000& 1CH*12& 960
301 LEtEAZ 13,170 5,510 7,660
09 SL2RRIABAZ 13,170 5,510 7,660
O=sae 82 13,170
== 88,000& x4 x12& 4,224
SAH| 5,000 x4 H x222 x 128 5,280
mE==ysl 2,600& x4H 222 «12& 2,746
C2R=E 156,000& *4H 624
gst=s 74,000 x4H 296
=t &5 K& 98,600 94,100 4,500
AlHI 39,400
2l 59,200
FEEAMN M5 X 78,800 72,800 6,000
AlH] 39,400
2l 39,400
301 LeEtEAZ 78,800 72,800 6,000
AlH] 39,400
2l 39,400
12 JIEt2 &2 78,800 72,800 6,000
ORE23M &5 XA 78,800,000 78,800
AlHI 39,400
2l 39,400
CiEselael X 6,000 6,000 0
301 LEt8EAZ 3,000 3,000 0
10 AIAHIBAZ 3,000 3,000 0
ORI M &E3 ESHXEZ A
1,000, 000& 33 3,000
307 QI2t0lA 3,000 3,000 0
02 Q2B AE X 3,000 3,000 0
ORI MM 24| X 3,000,000& 3,000
22 MS2S A K& 12,600 12,900 A 300
201 LBt249h| 11,600 12,600 A 1,000
03 #AI2YHI 11,600 12,600 A1,000
OQSFALXI & 8,600
=2ENS 4,300,000& 4,300
322 4,300,000 4,300
OALE EZAY XA 3,000
1S 1,000,000& 1,000
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2A: 25221
HAM: #HY2AAH|(2 )
chel: ola 2oy (el de
SN BHG(SH) - NRAY - BES Off & 04 gggf; Hm= 2
OSLI2L2LY(ARDIR})
56,1752« 12 *23| x 12 1,349
02 JIEtRE % 228,122 46,558 181,564
OWDHAGHTE)EHE MAH AR (0IS) 34,433
S0 24,039,040 1 24,040
SN2 5,9932 *30A| 2t * 122 2,158
ESY 480
- B R 40,0002« 1«12 480
X BEH| 105,000 * 1« 128 1,260
X o Z ALY 130,000 * 1 <128 1,560
- NEE XY 120,000 *1H <128 1,440
- 20| 200,000 * 12« 128 2,400
tHel g st 50,0002« 1% 12 600
SOt AHH 23,106,000 x70%+11/360 495
OYZ24 22| MU AR (2t3) 71,667
o=
(27,462,000 x19 )+(27,462,0002 * 1%+ (9/ 48,059
12€))
A2tQl 2224g 5 3162 «48A| 2tx2H #1228 6,125
IIESY 960
- B R 40,0008 2%« 128 960
S XZE XY 140,000 x2H « 12 3,360
- HMZ A 130,000 x2 « 12 3,120
- 20| 20,0009 x 10«22 12 4,800
S HHelEsY 50,0009 x2% 12 1,200
I AHI 27,462,000 *70%+2% x11/365 1,159
§U224g 40,050%4 2 *2% x9R 2,884
OYzxEe4 A A3 122,022
23
(1,847,400 2% » 122 )+(994, 7002 » 12 +9 53,290
)
B | 25,406
- A2t 2R g
(6,34221 x5 A| 2t %2 %1902 )+(6, 3422 *5 Al 16,569
2H 12 %1902 %9/ 12)
- o224y
(2, 114218 A 2t %2 %1902 )+(2, 1142 *8Al 8,837
2bx199 %1902 %9/12)
IIESY 3,300
- B R
(40,0002 *22 122 )+(40,0002 * 1 +92 ) 1,320
- J1Et
(20,0002 *6% * 128 )+(20,0002 *3% 9 ) 1,980




SN 25 2BD
HH: HNSAFU(SEBRY)
el ol 2| (el &2
_ _ _ N E
SH-EH . C(BH) - NRAY - BES Off &F oA Gl o bRz
ESETEST
(105,0002 2%+ 128 )+(105, 0002 * 1% +9% ) 3,465
L= YN
(130,0002 2%+ 122 )+(130, 0002 * 1% +9% ) 4,290
==L
(120,0002 2%+ 128 )+(120,000%! * 1% +9% ) 3,960
- et Ayl
(44,333,0002 *11/360)+(8, 952,300 11/36 1,560
0+9/12)
=EE PN
(44,338,00021 %1/ 12+120%)+(8,952, 3002 #1/ 5,628
9+120%)
L5 N
(44,338,00021 #1/12+200%)+ (8,952, 3002 #1/ 9,380
9+200%)
S-EXE
(44,338,0002 *1/12+100%)+(8,952, 3002 #1/ 4,690
9+100%)
NEETIEE S8 4,773
Snf=+ i)
(433,830 +224 x43] ) +(433, 8802 #1243 4,773
)
CEFLY 30,0002+ 1%+ 128 360
H22Y B 1,920
- 20 0l4F 254 D)8
100,000% 12« 122 1,200
- 102 0I4 15E DIRF 60,0002 *12*122 720
203 ARE=WY| 4,200 4,200 0
M FH2YYRETY 4,200 4,200 0
ORASgLRENY) 4,200,002 4,200
ol =2 9,534 10,398 £ 864
=2l 9,534 10,398 A 864
201 L2 9,534 10,398 ~864
01 At 2lt] 9,534 0,398 £864
ORASY+ el 5,040, 0002 +0% 4,536
OJl=gess | 4,998,0002 4,998
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